
Word Study
Week of December 9

word root clo means close or shut
word root ous means having the quality of

word root fric means rub

word root anim means spirit or life

inanimate

abstemious
forsake candor

disappoint

clothes

criterion

macaroni

alludes

expound

blatant

nauseous

advisability

kangaroo

microcosm

commotion
friction enclose

surmise

involved

celebration

underlie

equanimity

surmount

luminous

arrival
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Name: Week of December 9

surmise involved candor expound criterion luminous

frictional advisability forsake excellent commotion alludes

inanimate underlie abstemious blatant microcosm disappoint

friction pristine equanimity clothes surmount macaroni

celebration kangaroo nauseous enclose arrival carnivorous

Write four words that you are unable to define.

Write ten of the most difficult words to spell.

Write ten words that you have not yet written.

I did page 1



Name: edHelper

S S T R U G G L I N G D E WO T S

T T S T E E P E S T A K E S G U T

O I T D T T G N I H C T I T S R A

P R A T E Y S D E W E T S I E T Y

S R V B G K S T I L L S T M T S S

T E E X A S C S O R S T Y U I T T

A D S I S T T O S O D A L L M N E

B S D N A T S A T T P E I U G E A

L S T A M M E R P S U S N S A D M

E D E L B M U T S L T F G I L I I

S T R E A K I N G T I A F O A R N

R E G G A T S T A Y I N G Y T T G

A E S T U D I E S T I N G T S S S

Ava makes a basket for every four 
attempts that she makes.  Jessica needs 
three attempts to make a basket.  Each 
basket is worth 2 points.  If they each 
make 36 attempts, then what is the score?

Rewrite these in increasing order of length:

56 km,  8 mm,  552 m,  251 cm,  184 dm

9 x 3 = 8 cm = mm 7,399 - 5,297 =  

2 0 3
+ 2 2 8

9 x 5 = 
Amy rolls a die.  What is the 
chance of her rolling a 6? 2 2

+ 4 2

word root monger can mean seller fishmonger, ironmonger

"ST" Words

ST ST

ST ST

ST ST

ST ST

ST ST

ST ST

ST ST

I found "ST" words.
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Name: edHelper

Word Roots
to Know:

anim
means spirit or life
inanimate
equanimity

ous
means having the quality of
luminous
carnivorous

clo
means close or shut
clothes
enclose

fric
means rub
frictional
friction

Word with k e n c l o s e z e e n l o s e s l j

the root: clo l s c z c e n c l o s e e n c l s o e

Word with o i m i w u f r i c t i o n i i g y n

the root: fric q n g j n c c f r i c t i o n i y c i

The root: fric a r u b b l z e r f r u b i b n h g x

means x b w l u e r u u b c u o r u b u i a

Word with a e i e q u a n i m i t y a t i e w t

the root: anim i t d t u n i y t e q u a n i m i t y

The root: clo s r t j s h u t t s h a h t y f a n v

means s h o h t z u l h j n q s h u t h h g

Word with c l o t h e s t h s u c l o t e s c t

the root: clo t c c l o t h e s c l e t h i s s t n

The root: anim t s p e r i t s r s p i r i t i a r s

means g m i h s p u r i t i s p i r i t s f

Vocabulary is confusing.  Get to the root of the problem with word roots!  Here are the answers:

spirit clothes equanimity enclose friction shut rub
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The vowels are missing in the word search.
Fill in the missing vowels and circle the words.

D S P P N T

R N D R L

C C N D R S S

L C R T R N

M C R N

L L D S S N

T C M M T N

L S P R I S T I N E

B S T M S

R X C L L N T

ALLUDES UNDERLIE EXCELLENT
CRITERION CANDOR ABSTEMIOUS
PRISTINE MACARONI DISAPPOINT
COMMOTION

A B S T E M I O U S

D I S A P P O I N T

P U N D E R L I E N

R C O M M O T I O N

I R M C A N D O R A

S D D A L L U D E S

T B L A T A N T E C

I E X C E L L E N T

N M A C A R O N I V

E C R I T E R I O N

BLATANT COMMOTION
ALLUDES PRISTINE
MACARONI
DISAPPOINT CANDOR
CRITERION
ABSTEMIOUS UNDERLIE
EXCELLENT

E S C R OAA B S T E M I O U S U N F L

C A N DO R OMD I S A P P O I N T O U

I N A N I MA T E C R I T E R I ON R M

O P R I S T I N E I OAA L L U D E S I

C L O T H E S O E X C E L L E N T C A N

M T E MAC A R ON I B L A T A N T K O

Z I COMMO T I ON E E NC L O S E U

C U N D E R L I E E X P O U N D R O T S

PRISTINE ABSTEMIOUS INANIMATE
CLOTHES FORSAKE DISAPPOINT
LUMINOUS CANDOR BLATANT
COMMOTION ENCLOSE ALLUDES
UNDERLIE EXPOUND EXCELLENT
MACARONI CRITERION
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INANIMATE EXCELLENT ALLUDES ARRIVAL INVOLVED
UNDERLIE KANGAROO ENCLOSE EXPOUND
Write each word into the puzzle.

A

I P

U

I N O
M

E
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equanimity involved clothes surmise abstemious underlie
Each row, column, and box must have all the words from the word list.  Write in the missing 
words.

underlie clothes surmise

surmise equanimity underlie

involved equanimity clothes

abstemious

underlie equanimity

Here is a pattern of letters:

     M M P P J M M P P J M M P P . . .

What letter will be the 28th term in the 
pattern?

Rewrite these in increasing order of length:

867 cm,  89 mm,  833 m,  147 dm,  790 km

4,889 + 2,623 =  

Can 423 be evenly divided by 11? Circle:
423 is divisible by 11
423 is NOT divisible by 11Anne rolls a die.  What is the 

chance of her rolling a 3?
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Each of the words below starts on the number shown.  A word can go up, down, left 
(backwards), right, or in any of the diagonal directions starting from the numbered box.

1 S
2 A

3 T G
O E

4 I M
N A 5

6 T S T
7 O T O

T R E 8 C O M B
9 A U S
L C

T
I
O
N

1. SILO
SKILLETS
SWIVEL
SAGE
SHEEN

2. ANT
AILMENT
AN
AS
ARM
ACCESS
ANY

3. TIE
TOMATOES

4. INSTRUCTION
ISSUE
IDEAS

5. ERR
EVEN

6. TASK
TOTAL

7. AT
ART
APPARENT
ASK

8. CENT
CONCERN
COAT
COMB

9. APE
ACRE
ALLEYS

Use >, <, or = to complete.

1
12

    39%

1
2
    69%

2
5
    73%

1
9
 x 5

8

(10 + 14) + 6 = 2(5 + 10)

If n = -9 and h = 44 then 
what is 5n - 14h - 4h = ? 2

5
 ÷ 9

10
 =

419 ÷ 10
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Circle words to the RIGHT or DOWN.  Every letter is used exactly ONCE.
P W O N C I N A N I M A T E N F

F R B A L A M A L L U D E S A R
O I L C R U C O M M O T I O N U I
R S A A R B M I C R O C O S M S C
S T T N I D I S A P P O I N T E T
A I A D V U S L U M I N O U S O I
K N N O A E Q U A N I M I T Y U O
E E T R L M A P C L O T H E S S NWrite the words found.

FRICTION NAUSEOUS

Write the missing family fact.

48 + 14 = 62
62 - 48 = 14
14 + 48 = 62

3 1
+ 4 6

6 x 5 =  

8 0
- 5 6

Circle the smallest number:
75,403,269,187
6,583,518,729
64,025,907
403,921

Wendy rolls a die.  What is 
the chance of her rolling a 2?

8,296 + 1,132 =  14 ÷ 2 =  4 5 4
- 3 3 6

word root nov can mean new novice, novelty
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Circle words to the RIGHT or DOWN.  When you are done, use the letters that are left to find
a mystery word.  Put a square around each letter left over.  The first 2
letters that do not form a word are rectangled.

D G O V E R N M E N T A X L E
O A C O M I N G S H E E N A T
W P I S A U C Y D A
N P T N E X I S T D V T

A S R R K B C S O M B E R E E E
C T A E I R L S L N R
T A I A T E E W A I S T C I T R
U I S S T A E X P E L A G U A
A R A O E S C A B L E L H R I
L S L N N E M E T A L E T E N

Write the words found.

The secret word is all that is left.  It consists of all the letters that did not form a word.  What is it?

T A

Write a word you found.  Explain what it means using your own words.

1.

2.

3.

4.

5.
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